Revenue Costs and Profit Questions
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Gnomes United case study 
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CASE STUDY Gnomes United

Gnomes United is a small garden centre in
Colchester. The owner, Jim Tavare, has success-
fully increased sales in recent years by widening
the range of products and services offered. A
total of 70% of the garden centre’s revenue
comes from the sale of plants and garden
tools, but the opening last year of a nearby
superstore led to a sharp reduction in sales
of these items. Sales of plants have fully
recovered, owing to quality problems at
the superstore, but sales of garden tools
are still low. Market research among his customers has
led to Jim realising that the sale of garden tools in his
garden centre is important, since customers see them
as an essential element of any garden centre.
Furthermore, Jim remembers how sales of plants at his
cousin Jack’s garden centre in Ipswich fell sharply when
Jack decided to stop selling garden tools.

Sales records show that relatively few garden tools
are bought in the run-up to Christmas.

Last year Jim experimented with selling some

) LAl Christmas products, such as deco-

rations, as many customers visit the
centre once a year to buy their Christmas
trees. The restaurant at the garden centre
enjoys a boom time in the month before
Christmas, and Jim’s research shows that
about 20% of his customers first came to
the garden centre to buy Christmas
products and have come back since for
other products.

Jim is wondering whether to stock
Christmas tree lights this year — an item that he has not
previously sold. He has asked 50 customers and they
seem to be keen on the idea. Their responses have led
him to conclude that he will sell 200 boxes in
December. A standard box of lights will sell for £19.99
The lights will cost £13.50 to buy from the supplier, but
Jim estimates that he will need to increase the number
of part-time hours worked by 4 hours in total, at
rate of £5 per hour. This estimate is based on asking the
owners of three other local garden centres.
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1 Name two other terms that also mean ‘revenue’.

2 Identify four different examples of fixed costs for a garden centre.

3 Based on the figures in the case study, calculate the extra profit that Jim hopes to make from
the Christmas tree lights.

4 Analyse one reason why it would be difficult to estimate the effect of stocking Christmas tree
lights on the number of part-time hours needed.

5 Discuss the other factors that Jim should consider before deciding whether to stock the
Christmas tree lights.
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1 Identify three fixed costs and three variable costs from the list below:

e raw materials e property rent
e power e advertising expenditure
e stationery expenditure e wages

2 Calculate the missing figure in each of the following:
a Average price per unit = £33 and quantity sold = 25 units. Total revenue = ?
b Total revenue = £1,260 and quantity sold = 70 units. Selling price per unit=?
¢ Total revenue = £1,840 and selling price per unit= £23. Quantity sold = ?
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1 Calculate the total costs of making:
a 50 units of product A
b 50 units of product B

A company makes and sells 100 units
each of two products (A and B).
The fixed costs and variable costs

are shown in Table 11.4. 2 Calculate the total costs of making:
Table 11.4 Fixed and variable costs a.150 e ST
b 150 units of product B
L = > 3 Briefly explain why the change in total costs for
F'Xe_d casts (£) Al &0 product A is different from that for product B
Variable costs (£) 800 200 as output changes.
Total costs (£ 1,000 1,000 " . e o
btrlco ) 4 Explain the implications that these figures have

for a company that is deciding whether to
replace its workers with machinery.
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The table below shows some costs and revenue data at different levels of output.
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1 What are the total fixed costs?

2 What s the selling price of the
product?

3 What are the variable costs
per unit?

4 Using the above information,
complete the table by filling in
the gaps.




